'Il! !! AI! ! ! 4!
85997

November 2009
(Page 1 of 4)

ECHNICAL INFORMATION

) > Change of Wheel Cover Ass’y, Bearing box, Motor Housing

) > GA5010, GA5011, GA5020, GA5020C, GA5021, GA5021C, 9562CH, 9562CR, 9562CVH,
9562CVR, 9565CLR, 9565CR, 9565C, 9565CV, 9565CVL, 9565CVR, 9565H, 9565PC,
9565PCV

) > See pages 3 and 4.

P> Wheel cover ass’y, Bearing box and Motor housing have been changed to comply with the clause
of IEC/ EN60745 EU mechanical directives.

See Figs. 1 to 8.
Fig. 1

Toolless wheel cover
125 ass'y (135108-2)

""17--- Protrusion

=

Bearing box
(318302-3)

Toolless wheel cover
125 ass'y (122895-2)

== Three protrusions

"=~ Stopper

Oring 4 M5x16 Pan
(213009-5) head screw (265180-1)
N8 -vzzz2~ Three
.~ notches
S X Bearing box
topper (318334-0)

Fig. 2

Wheel cover
(165055-3)

------------------- Protrusion

ﬁ _—MS5x16 Pan head
screw (251391-4)

=>

Notch

Bearing box
(318302-3)

Wheel cover 125K Assy
(122887-1)

\ ">~ Stopper
M5x16 Pan

head screw (265180-1)

Oring 4
(213009-5)

Bearing box
(318334-0)

Fig. 3

Wheel cover ass’y
(125268-8)

* Protrusion

T M5x14 Pan head
Notch - screw (265103-9)

=>

Bearing box
(318302-3)

Wheel cover 125K Assy
(122887-1)

~
~

\ "=~ Stopper
M5x16 Pan

head screw (265180-1)

Oring 4
(213009-5)

i Three
notches

Bearing box
(318334-0)




Fig. 4

Wheel cover 125K
assy (122887-1)

Wheel cover ass’y
(135240-2)

7 TINNIIzE s Three B S s Three
nl__l_) protrusions [ =1 protrusions
—— M5x16 Pan head i

\ ">~ Stopper
Oring 4 M5x16 Pan

(213009-5) head screw (265180-1)

screw (265180-1)

Fig. 5

Toolless wheel cover
125 ass'y (122895-2)

Toolless wheel cover
125 Ass'y (135242-8)

== Three protrusions

=>

_—M5x16 Pan head "=~ Stopper
screw (265180-1) Oring 4 M5x16 Pan
(213009-5) head screw (265180-1)

Fig. 6

Wheel cover 125K Wheel cover 125K

assy (122887-1)

- Two \pzzzz3=5 Three
protrusions );)7 =1 protrusions
\ ">~ Stopper
——M5x16 Pan head Oring 4 M5x16 Pan
screw (265180-1) (213009-5) head screw (265180-1)

Bearing box
(318300-7)

Bearing box
(318333-2)

Fig. 7

Wheel cover 125K
assy (122887-1)

==- Two TIIIanvzzzzi=se- Three
protrusions )J/__), w1 protrusions
/ \ TS Stopper
——M5x16 Pan head Oring 4 M5x16 Pan
screw (265180-1) (213009-5) head screw (265180-1)

=~ Three
notches

Bearing box
(318332-4)

85997
(Page 2 of 4)

Fig. 8

Notch

N

Two actions are required
to turn on the switch.

See page 4 for the part
numbers of Motor housings.




85997
(Page 3 of 4)

Item No. Current part Q'ty| I/C New part Q'ty Note
Toolless Wheel Toolless Wheel The current
048 Cover 125 ASS'y 1 | No |Cover 125 Ass'y 1 remains 9562CH for Austria, France, Germany,
"""""""" available.  Italy, Netherlands, Poland, Reunion,
122895-2 Russia, Spain, Sweden, Switzerland,
O Ring 4 UK
e e 1 9562CR for Austria, France, Germany,
213009-5 Component Netherlands, Reunion, Spain
Pan Head Screw of 135108-2/ 9562CVH for Austria, France,
049 M5x16 1 122895-2 gelrrr(;any, Itlill)lr, I\Letlgerlar.lds, gew.
"""""""" aledonia, Poland, Reunion, Russia,
251391-4 265180-1 Spain, Sweden, Switzerland, Tahiti
9562CH, Bearing Box Bearing Box 9562CVR for Austria, France, Germany,
9562CR,  f---------------- 1 [No|[-------7--------- 1 Netherlands, Poland, Reunion, Spain
9562CVH, 318302-3 318334-0 9565C for Austria, France, Germany,
9562CVR, Italy, Netherlands, Poland, Reunion,
9565CR, Russia, Spain, Sweden, Switzerland, UK
See | 9565CVR, 9565CR for Austria, France, Germany,
Fig.1| 9565H: 053 Netherlands, Reunion, Russia, Spain,
9565C, Switzerland
9565CV: 054 9565CYV for Austria, France, Germany,
Italy, Netherlands, New Caledonia,
Poland, Reunion, Russia, Spain, Sweden,
Switzerland, Turkey, UK
9565CVR for Austria, France, Germany,
Italy, Netherlands, Poland, Reunion,
Spain, Sweden, Switzerland, Turkey
9565H for Austria, France, Germany,
Italy, Netherlands, Poland, Reunion,
Russia, Spain, Sweden, Switzerland,
Tahiti, UK
Interchangeable
as a set
A02 Wheel Cover 1IN Y\;lsli(elACover The current
---------------- 0 Ssy 1 |remains
165055-3 -1-2-2-{; é-7-_-1 ------- available.
Pan Head Screw
AO05 MSZ(_I_Q _________ 1 9565CLR for Austria, France, Germany,
251391-4 Italy, Netherlands, Poland, Reunion, Spain
9565CVL for Austria, France, Germany,
See // Ttaly, Netherlands, Poland, Reunion,
Fig2| —— [~ 1 Russia, Spain, Sweden, Switzerland, UK
213009-5 Component Interchangeable
P Pan Head Screw ‘1322133;)515'3/ as a set
e M5x16 1 -
265180-1
9565CLR: 053/ Bearing Box 1IN Bearing Box {
9565CVL: 054)318302-3 ? 318334-0
Wheel Cover Wheel Cover The current
048 Asg’y 1 |No |125K Assy 1 |remains
125268-8 122887-1 available.
| : 9565H for Austria, France, Germany,
el R — -O- -I?}I}-g-é-'- ------- 1 Italy, Netherlands, Poland, Russia,
See 213009-5 Component  Spain, Sweden, Switzerland, UK
Fig.3. Pan Head Screw Pan Head Screw of 125268-8/ Interchangeable
049 Msx14 | | |<—|Msxl6 1 122887-1 as a set
265103-9 265180-1
053  |Bearing Box | | | g |Bearing Box |
318302-3 318334-0

Interchangeability mark;

The arrow «— means that the new part can be substituted for the current.




85997

) (Page 4 of 4)
Item No. Current part Q'ty [ I/C New part Q'ty Note
GA5010 Wheel Wheel C GA5010 i.'or Arge.:ntina, Austra.li.a, China, New Zealand,
GA501 1’ ee ' eel Lover South Africa, Sw1tze.r1and, Tahiti, Turkey, UK
G ASOZO: _(_:?_V_e_r_‘_A‘_S_S_)_/_ L 1| _1_2_5_ I_<_ ‘_Ats_s_)f _____ 1 GASQII for Austra.ha, Frar.lce, Ita‘ly, Netherlands,
GA5021- 051 1135240-2 122887-1 Reunion, South Afl‘lf:a, Spain, S.Wltzerland, Turkey
GAS5020 for Argentina, Australia, Chile, France, Italy,
See |9565C: 048 Netherlands, New Caledonia, Reunion,
Fig.4. = ORing 4 Component Spain, Tahiti, Turkey, UK
N I R ol R 1 of 122887-1 GAS021 for Austria, France, Germany,
213009-5 Italy, Netherlands, Poland, Reunion, South
Africa, Spain, Switzerland, Turkey, UK
9565C for China
GA5020C, Toolless Wheel Toolless Wheel GAS5020C for Chile, Qermany, It.aly, Netherlands, Spain
GA5021C: 058 Cover 125 Ass'y | |<—|Cover 125 Ass'y 1 GA5021C for Argentina, Australia, Austria, Cypru§,
9565PC,  |[T---c-c =4 | b T e France, Germany, Italy, Netherlands, New Caledonia,
9565PCV: 039 135242-8 122895-2 New Zealand, Poland, Reunion, Russia, South Africa,
See Spain, Sweden, Tahi.ti, Turkey, UK
Fig.5. I = Q_R}H_g_‘_‘ _______ | Component ZS6SdPC for Australia, Bhutan, Germany,
213009-5 of 122895-2 9?665 ;’EV .
or Bhutan, France, Germany,
Italy, Netherlands, Reunion, Spain,
Sweden, UK
Wheel Cover Wheel Cover
051 115K Assy 1 |No |125K Assy 1
"""""""""""""""" GAS5010 for Brazil, Guam, Hong Kong,
135202-0 122887-1 India, Kuwait, Philippines, Saudi Arabia,
See L — O Ring 4 Singapore, Thailand, Vietnam
Fig6.| —— [ || | =l 1 ch";‘;g%%‘;ml GAS5011 for Bhutan, Saudi Arabia
213009-5 Interchangeable
Bearing Box Bearing Box as a set
046  f[ooooeeoe- 1 |No|-----=-m------ 1
318300-7 318333-2
Wheel Cover Wheel Cover
051 115K Assy 1 | No 125K Assy 1
"""""""""""""""" GA5020 for Indonesia, Philippines,
135202-0 122887-1 Taiwan, Thailand, Vietnam
S.ee L— O Rlng 4 Component GA5021 for Bhutan
Flg-7- - T -2-1-?;6(-)-9-_-5 ------- 1 of 122887-1 Interchangeable
- - as a set
Bearing Box Bearing Box
046  f[oooeoemme- 1 |No|-----—=-------- 1
318299-6 318332-4 \
Motor Housing Motor Housing 9562CH for Austria, France, Germany, Italy,
040 - 1] |e«—|"-"--"--------- 1 |Netherlands, Poland, Reunion, Russia, Spain, Sweden,
417812-8 451779-0 Switzerland, UK
9562CR for Austria, France, Germany, Netherlands,
Reunion, Spain
9562CVH for Austria, France, Germany, Italy,
Netherlands, New Caledonia, Poland, Reunion, Russia,
Spain, Sweden, Switzerland, Tahiti
9562CVR for Austria, France, Germany, Netherlands,
See Poland, Reunion, Spain
Fig.8. 9565C, Motor Housing Motor Housing 9565C for Austria, France, Germany, Italy, Netherlands,
9565CV,  bo-cooooo o2 1 |*e—|--- 2 1 Poland, Reunion, Russia, Spain, Sweden, Sweden,
9565CVL: 033|418512-3 451278-2 Switzerland, UK
9565CLR, 9565CYV for Austria, France, Germany, Italy,
9565CR, Netherlands, New Caledonia, Poland, Reunion, Russia,
9565CVR, Spain, Sweden, Sweden, Switzerland, Turkey, UK
9565H: 040 9565CVL for Austria, France, Germany, Italy,

Netherlands, Poland, Reunion, Russia, Spain, Sweden,
Switzerland, UK

9565CLR for Austria, France, Germany, Italy,
Netherlands, Poland, Reunion, Spain

9565CR for Austria, France, Germany, Netherlands,
Reunion, Russia, Spain, Switzerland

Interchangeability mark;

The arrow «+— means that the new part can be substituted for the current.

From November 2009 production in MJ, MCC, MKC, MME and MMR plants

9565CVR for Austria, France, Germany, Italy,
Netherlands, Poland, Reunion, Spain, Sweden,
Switzerland, Turkey

9565H for Austria, France, Germany, Italy, Netherlands,
Poland, Reunion, Russia, Spain, Sweden, Switzerland,
Tahiti, UK




